4% F1E 2016%1H4H
1 iR®YIFEFAPA VS 6 ZRss1+1BA
H= A=
YIEERTA L1 L1 YIEERTA
I BRE % PR e ppm—"
/& YR 7 D 5 TEE 7 -
x| | R | m | R | mee| e | 2 |er axe| 20| T
9 ,?ﬁ 1t 2H +1 140 1t 2H +1 140
10 | \WHB x 3NT -1 100 [ri] 5C -4 400 7
11 | YW [£3] 4H -1 -50 [£3] 4H -1 -50
12 | Edb [£3] ANT -3 -300 [£3] 5D = 600 14
13 | WH/ [ri] 3NT -1 100 78 2NT +1 -150 6
14 |wxl @ | 30 | 4 | 200} &£ | 4s | 2| 50 | 6
15 | Edt x 5Cx -4 800 [£7] 4S = 620 5
16 | ZRFg [ri] 5S -1 100 [ri] 4S = -620 12
DATUM&iT %
iRYIFEFNPA RE1+1BA Y. X+ 29 21
TEENFNE 11 EE=E/FEE 2 ait 29 | 21
BRWARERE -2 DR/MAEDER S -11 VP. |1312]| 688




¥4 25 201641H4H
3 FYIISPARKBA VS 8 FRSSERBA
H= G
3ISPARKEA ) P FHISPARKEA
it : BEL R XERNT 1t : FElE 5 EF
B A 7 EAE R AN 7 skRiE
x| | R | m | R | mee| e | 2 |er axe| 20| T
(¢] ,?ﬁ jt 2S = 110 jt 2H = 110
10 YRE [ri] 5C -4 400 ﬁﬁi 2HX 2 -500 14
11 | X [£3] 3NT -3 -150 1t 4H -3 -150
12 ﬁﬁijt ﬁﬁi 5D = 600 jt 4S 1 -100 12

13 |wal & | ANT | +1 | 120§ 7 | o2NT | +1 | -150 | 1

14 |wxE|l 46 | 3s | = | 1490 & | 4s | 1 | 50 | 5
15 @kl @ | 4s | = | 620 | @ | 4s | = | 620
16 |%@m| & | 5cx | -1 | <200 4t | 5C¢ | -2 | -100
DATUM% it I E
RJIISPARKPEA FRSEAPA v -] 32
REL/HA 17 WEEE/MLE 24 ait 32
FF/iRIE 24 XGRS/ EL 17 V.P. 18.68 | 1.32




%4 %3 R 201641H4H
5 &I ig8E VS 10 FRFE(EFERA
H= A=
YIS e\ e\ YIS
T — 7% HHRE It o= 7 - R
& EER 7 e — 7 -
x| | R | m | R | mee| e | 2 |er axe| 20| T
9 g nyiie] [ri] 3D -2 200 1t 2H +1 140 2
10 | \WHB x 3NT -2 200 [ri] 5C -3 300 3
11 | YW 1t 4H -2 -100 1t 4H -1 -50
12 | Edb 1t 5Sx -1 -200 5| 4Sx -1 -200
13 | WH/ 1t 2D +1 110 1t INT = 90 1
14 |wxl 46 | 4 | 2 | 100} & | 2D | -1 | 50 4
15 | Edb x 5Cx -4 800 [£7] 6S -2 -200 14
16 | ZRFg [£3] 5Cx -2 -300 [ri] 4S = -620 8
DATUMSit T
RIS IERB FelE(EPA Y. X+ 25 9
B BYER O L&/ T -20 ait 25 9
KRR /{2 2R 20 R/ R ES O V.P. 155 | 45
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7 i® KT VS 2 BT
H= A=
RY IR REETFIN REETFIN R PR
it : % AR it : Z5E 7R bR
=] 7 ENXE g T A EFE
x| | R | m | R | mee| e | 2 |er axe| 20| T
9 g nyiie] 1t 3H = 140 1t 2H +1 140
10 | \WHB [ri] 3S -3 300 x 5D -2 200 3
11 | YW [£3] 4H = 420 1t 2S +1 140 7
12 | Edb 1t 4S -1 -100 [rif] 5Cx -2 300 9
13 | WH/ [ri] INT = -90 75 3NT -1 100 5
14 | W 1t 4H = 420 1t 4S -1 -50 10
15 | Edb x 5Cx -4 800 [£7] 4S = 620 5
16 | ZRFg [£3] 5C -1 -50 [ri] 4S = -620 11
DATUM%it g
(|79 5k FEETFEA r. 5] 36 | 14
EZE/E 28 ZPE/ T RE 5 Aait 36 | 14
Mot/ 24 -5 R(C=LENE -28 V.P. 16.9 | 3.1
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9 iFYIISKYPRA VS 4 BR8P
H= A=
FISKYIN FEEmE T\ FISKYIN
T % - ot It XE PppE—
= TEn 7 - U T T
x| | R | m | R | mee| e | 2 |er axe| 20| T
9 ,?ﬁ 1t 2S +1 140 1t 2H +1 140
10 | \WHB [ri] 5D -2 200 x 3NT = -600 13
11 | YW 1t 4H -3 -150 [£3] 4S -1 -50 3
12 | Edb [ri] 5Cx -1 100 5| 4S -1 -100 5
13 | WH/ [ri] INT = -90 75 3NT -1 100 5
14 | W x 2D -3 150 1t 3C = 110 1
15 | Edt [£3] 4S = 620 x 5Cx -4 800 5
16 ,?ﬁ [£3] 5C -2 -100 [ri] 4S = -620 11
DATUMSit T
iRYISKYPRA GEREP Y. X+ 30 13
FIR/FEER 5 XIEEF/KER -15 ait 30 13
B {HR/BRE 15 SRR/ XN -5 V.P. 15.75 | 4.25




